Zjednoduš dané výrazy:

a) 4x + 5 - 6x =           ____________________________
b) 4,5a + 1,8a - 3a =     _______________________
c) - 5y + 7 - 3 + 9y	 =    _______________________
d) d + e + 2d – 3e	=      ________________________
e) 1,2x + 3,7y - 1,5y – x =     ___________________
f) 4x + 7y + 5x + 12y =    _____________________
g) 2b + 7d + 4b + 15d =    ____________________
h) 7x + 4  12x  20 =     ______________________
i) 6a  b + 9 12a  14 + 5b =    ____________________
j) [bookmark: _GoBack]– 2v + 3w – 5 -10w + 2v + 6 =   __________________
k) -a + 7b + 5c + a - 4c = ____________________
l) 9u + 9v - 8u - 8v + 7u - 7v = _______________

